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Croissance Endogène

Y = AK
úK = Y − C

U(c) =

∞Z
0

e−ρt
c1−θ

1− θdt

g =
A− ρ
θ

Y = AαL1−α

úA = δAγ(L− L)β
úA

A
= δAγ−1(L− L)β < δLβAγ−1

⇔
úA

A
=

αδL− ρ(1− α)
α [1− (1− θ)(1− α)]

g =
αδL− ρ(1− α)
1− (1− θ)(1− α)

Yj = f(kj,K) ; K =
X
j

kj , ∀j = 1, ...., n

u(c) = ln(c) ; F (k,K) = kαKη

K =

AZ
0

X(i)di ;
úK

K
=
úA

A

Y (H1, L,Xi) = Hα
1 L

β

AZ
0

X(i)1−α−βdi

C(X) = PA + ηrX

X̄ = X(i),∀i
Y = AHα

1 L
βX̄1−α−β

úA = δH2A

H = H1 +H2
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U(c) =

∞Z
0

e−ρt
c1−θ

1− θdt

g =
δH − Λρ
Λθ + 1

= δH2

Λ =
α

(1− α− β)(α+ β)
H2 =

H − ρΛ
δ

Λθ + 1

At = Aoγ
t ; Pt = AtF 0(Xt) ; (AtF

0(Xt)− ωt)Xt

U =
∞X
t=0


µ

1

1 + ρ

¶t " ntX
i=0

Cθit

# 1
θ


nt − nt−1 =

eIt
γ
nt−1

nt − nt−1
nt

=
1− ρ
1 + ρθ

(
L

γ
− (1 + ρ) θ

−θ
1−θ

1− θ

)

úh = δ(1− u)h
d úh

dh

h
úh
= δ(1− u) h

δ(1− u)h = 1

Q = AKβ [uH]1−β hγa ; H = Lh ; úK = Q− C

U(c) =

∞Z
0

e−ρt
c1−θ

1− θdt

v =
(1− β)(δ − ρ)
θ(1− β + γ)− γ ; v∗ =

(1− β)(δ − ρ) + δγ
θ(1− β + γ)

g =

µ
1 +

γ

1− β
¶
v ; g∗ =

µ
1 +

γ

1− β
¶
v∗
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Y = g(H,L)

AZ
0

X(i)γdi ; g(H,L) =
h
αHβ

1 + (1− α)Lβ
i1−γ

β

β ∈ ]0, 1]

úh = δ(1− u)h ; δ = f(h) avec
∂f

∂h
> 0

y = Ak1−αGα , α ∈ [0, 1] ;
∂y

∂G
≥ 1 ; H = Ny

y = Ak

µ
G

y

¶α
; Y = Ny = AK

1
1+αG

α
1+α

g =
δH − Λρ
Λθ + 1

g =
2δH − Λρf (T )
1 + Λθf(T )

; f(T ) =
1 + (1 + T )

α+β−1
α+β

1 + (1 + T )−
1

α+β
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